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presence of nitrat-tester Soeks allows 
one to refuse the purchase of suspicious 
foodstuff, and to significantly secure 
oneself and relatives, especially 
children. Such analysis made using 
nitrat-tester Soeks  is performed in a 
few seconds, and the only thing the 
device needs for a long-term operation 
is that you do not to forget to change the 
batteries or to recharge accumulators as 
a usual cellular telephone.
   Certainly, the question may always 
arise: what if excessive electric 
conductivity of a foodstuff is due not to 
nitrate ions? Such situation is possible, 
but will the buyer feel easier if he or she 
has bought a foodstuff with an 
increased phosphate (or other ion) 
content instead of nitrates or simply a 
foodstuff that started to spoil? 
Remember that base electric 
conductivity was determined for each 
individual type of fresh fruit and 
vegetables while the composition and 
concentration of organic acids vary 
during rotting.

 

   

Comment:
* Increasing the number of measurements 
shall improve the reliability of readings.
** The time of continuous work of the 
device is up to 10 hours, with default 
settings and two batteries of capacity 
1,350mAh.
*** Default settings:  
measuring units3 mcSv/h, alarm level -  
120, color theme - green, sound 3 on.

 

Range of indicated 
nitrate content, mg/kg
Range of indicated 
background radiation 
level, mcSv/h  

Power elements

Overall dimensions                              
height E width E 
thickness, max, mm
Weight (without power                         
elements),  max, grams 
Battery charging 
current, max, mA 
Current consumption 
from charger or USB 
not more than 
Output charger voltage 

Display 

Operating temperature
range, °%

Specification

from 20 to 5 000 

from 0,03 
to 1 000

Range of indicated 
background radiation 
level, mcR/h 
Registered gamma 
radiation energy

from 3 to 100 000

from 0,1

Warning thresholds, 
mcSv/h

from 0,3 to 100

Warning thresholds, 
mcR/h 

from 30 to 10000

Time of measurement, 
seconds 

up to 20

Display format of 
indication

Constantly, 
number and 
graphical
AAA size batteries 
rechargeable or 
non-rechargeable 
(NiMH) 

Measurement error, 
not more 

30%

Power voltage range, V 1,9 - 3,5
Time of continuous 
work of the device, 
hours at least** 

10

144E47E17

66

300

500

from 4,5 to 5,5

Color TFT, 
128x160
from -20 to +60

Precautions

   Before using the product, please read 
carefully the safety measures below and 
strictly observe them when using the 
product. Violation of these rules may cause 
malfunction or cause total failure of the 
product. The manufacturer9s guarantee 
shall be void if the safety measures stated 
below are violated. 

" Protect the product from shock and other 
mechanical impacts that can damage it.
" Do not use the product in conditions of 
high humidity, under or in contact with 
water: the product is not waterproof.
" Do not leave the product in places with 
intensive sun light or high temperatures for 
a long time, this can cause electrolyte 
leakage from power elements, failure of 
the product, and injuries. 
" Do not leave the product for a long time 
near devices that generate strong magnetic 
fields, such as magnets or electric motors, 
and where strong electrical magnetic 
signals are generated, such as transmitter 
towers. 
" Do not perform measurements close to 
cell phones and microwaves, this may 
affect the instrument9s readings.
" Do not disassemble and do not try to 
repair the device on your own.
" Do not connect the device to a PC or 
socket while it has regular batteries 
installed.
" Strictly observe polarity when you install 
power elements, otherwise the device may 
overheat and fail.

   

Manufacturer9s warranty

   The manufacturer guarantees efficient 

operation of the device provided that the user 

observes the operating conditions, safety 

measures, and requirements to storage and 

transportation described in this manual.

   The warranty period for the device is 12 

months after the device is purchased through a 

retailing network; in case of direct sales 

distribution, the warranty period begins after 

the ultimate user receives the device. If any 

malfunctions are detected in the device, the 

warranty period shall be extended for time 

during which the device is under warranty 

repairs and the ultimate user is unable to use 

the device.

   We recommend that you read carefully the 

instructions presented in this manual before 

contacting the warranty repair service.

   Please send all your comments to our e-mail 

addresses at our official website: 

www.soeks.ru, telephone +7(495)223-27-27 or 
mailing address: 127566, Moscow, 
Altufyevskoye Shosse, 48, k.1, office 301.

Warranty repairs are done at the 

manufacturer9s factory.

 

   This guarantee shall be void if:

  - the serial number of the device is not the 

same as the number in the guarantee coupon;

  - the guarantee coupon is not available or 

illegible because of damage, corrections or 

erasures;

  - requirements to shipment, storage and 

operation described herein are violated;

  - malfunction is caused by third party actions 

or a force majeure;

  - the device or its component parts has signs 

of shock or other mechanical impact 

(scratches, cracks, chips, loose parts inside the 

case, color spots on the display, etc.);

  - malfunctions are caused by foreign objects, 

liquids and insects inside the device;

  - the user does or attempts to disassemble and 

repair the device.

   

Principle of nitrat-tester operation

   Ecotester Soeks is intended for a 
primary express assessment of the 
nitrate ion content of fresh fruit and 
vegetables.
   The principle of ecotester Soeks 
operation is based on measuring the 
electric conductivity of fruit and 
vegetable medium. Each fruit and 
vegetable contains potassium, 
magnesium, iron, copper and chlorine 
ions required for their vital functions as 
well as many organic acids and other 
substances in certain concentrations 
required for their normal development. 
The content of each concrete substance 
(in the form of ions or molecules) is 
determined by biochemistry of the 
concrete plant (there exists a base level 
of ion content) and composition of water 
and soil, on which it grows. Fertilizer is 
very often used to secure an effective 
plant growth 3 for example, fertilizer in 
the form of salts (nitrate, phosphate, and 
other fertilizer). Nitrates or phosphates 
are dissolved in water, and reach the 
plant, which willingly absorbs them in 
the form of salt ions. The salt ions 
(nitrates, phosphates, etc.) spread across 
the plant, and are accumulated in 
various parts of the plant, including 
fruit, which increases electrolyte content 
and, accordingly, electric conductivity of 
the fruit/vegetable medium. Thus, we 
can use ecotester Soeks to measure the 
electric conductivity of fruit and 
vegetables, to compare this value with 
electric conductivity due to the base 
level of ion content, and to say that that 
the product under test contains an 
increased amount of ions with a certain 
probability. Since nitrate fertilizer is 
widely spread in Russia and CIS 
countries, one may expect with a high 
degree of probability that excessive 
electric conductivity is due to the 
presence of nitrate ions. 

   Ecotester Soeks is calibrated by nitrate 
ion content. Their concentration in fruit 
and vegetables is determined using an 
independent test method (potentiometric 
determination of nitrate ions per GOST 
29270-95 (Fruit and Vegetable 
Processing Products. Nitrate 
Determination Methods). The results 
obtained have been used to download a 
number of dependences of the measured 
electric conductivity on nitrate ion 
concentration determined for various 
fruit and vegetables with due regard to 
their base electric conductivities in 
ecotester Soeks.
   Ecotester Soeks delivers the result of 
express test in the form of nitrate ion 
concentration and compares is with the 
maximum permissible concentration for 
the measured product.
The device measures the concentration 
of nitrates in milligrams per kilogram of 
the product.
For adults it is safe to consume 200-300 
mg of nitrates per day. Dozes over 600 
mg of nitrates per day are dangerous to 
consume.
Example:
- While measuring of beetroot the result 
is 1000 mg/kg. It is a normal result for 
beetroot but it is safe to consume no 
more then 0.2 kg of this beetroot per 
day.
- While measuring of watermelon the 
result is 350 mg/kg. If you will consume 
2 kg of this watermelon, you will get a 
nitrates poisoning.
   Remember that the result obtained is 
an estimate, and it cannot replace a 
quantitative chemical analysis in a 
specialist chemical laboratory, which is 
not free of charge and requires time. 
However, the presence of such 
laboratory and a qualified 
chemist/analyst at home or in the  
pocket during each purchase of fruit, 
vegetables or berries is impossible for 
the majority of people, while the 

Result
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When the measurement is compleat item 

will display numeric result and one of three 

possible working messages. 

«Normal nitrates content» (pic.1);

«Slight excess of nitrates» (pic. 2);

«High excess of nitrates» (pic. 3).
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Result
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In case of excess of radiation background 

norm, the item will display following 

warning message:

 

1) Accuracy indicator bar

2) Radiation background level

3) Measurement units

4) High level warning

5) The flux density of radioactive particles 

(indicator lights when each particle is 

detected)

6) Threshold excess warning

7) Radiation background level

Screen Indicators 
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2

3

4

7
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Measuring process
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Accuracy indicator bar is intend to display 

the current level of items accuracy. As 

more it filled, as more item is accurate.

Bar is filling first with green then yellow 

and red line. Finally, the accuracy bar will 

be replaced with <max accuracy= phrase. 
That means that item is now displaying the 

most accurate result.
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1. - Color TFT display
2. - Button [UP]
3. - Button [OK]
4. - Button [BACK]
5. - Button [DOWN]
6. - Protective cap
7. - Measuring probe
8. - mini-USB
9. - Button [ENTER] 

   Button [��] 3 turn the device 
on/off, confirmation in nitrat-tester 
mode.
   Button [ENTER] 3 confirm 
selection.
   Button [BACK] 3 back to 
previous menu. 
   Button [UP] 3 moving up in the 
menu. 
   Button [DOWN] 3 moving up in 
the menu.

 

   

Appearance of the Device

1

2

3
4

5

6

7

8
9

Interface

Main menu

You can choose nitrates or radiation 

measurement regime in the main menu of 

the item (pic.1). <Units= menu item is 
intend to change units of radiation 

measure. To change units choose <Units= 
menu item and press OK or NEXT. 

<Range= menu item is intend to select 
radiation level when item will alarm the 

excess range warning. <Power= menu item 
is intent to switch Normal/Powersave 

mode.

In Powersave mode item reduce screen 

backlight to 70% and turn off the sund, it is 
also turn off the item in case of no buttons 

click for 2 minutes.
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Measuring process
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You will see the norms in mg/kg for the 

choosen product on the next screen (pic. 1),

Insert the probe to the measuring product 

and press <OK= button on the keyboard.
While measurment you will see the process 

bar on the items creen (pic. 2).
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Norm: 200 mg/kg
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In the <Measurement= menu choose 
measuring product from the list and press  

<OK= button. To return to the main menu, 
press left arrow button on the keyboard.
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Ecotester Soeks

Purpose
   Ecotester SOEKS is designed for 

express analysis of fresh fruit, vegetables 

and meat for nitrates and for assessing the 

product radioactivity level and detecting 

objects, food or construction materials 

contaminated with radioactive elements.

  Nitrate content analysis is based on 

conductivity of alternating high-frequency 

current the measured food items.

   Ecotester can easily assess the level of 

radioactivity according to the power level 

of ion radiation (gamma radiation and beta 

particles stream) with taking into account 

x-ray radiation.

Base kit

   Ecotester SOEKS has the following 

items included in the base kit:

 Ecotester Soeks                         1 pcs

 Passport                                     1 pcs

 2 batteries (AAA size)               2 pcs

 Rigid paperboard box                1 pcs

The manufacturer reserves the right to add 

new features to the device. Please follow 

new code modifications on the official 

website: www.soeks.ru. The device9s code 

can be modified only in the manufacturer9s 

service centers.
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